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1. et & 9 Rl w75 &1 39T AT 40 § 60 st A SifST ) [2]

Answer any one of the following questions in about 40 to 60 words.

(@) &I H &Y U = 7 foeg O wx sfHa a@r &t 0.0 &= it Farfa &t faeamae feufa st
fRerferfera @1 afwfora fifsro (IT3-18)

(i) TET HT AATH
(ii) JET ==
(iiiy  TETH g

(iv)  TETHRT T

(a) In the diagram shown alongside the displacement- position graph of a wave generated
at O 1s shown after 0.1s. Calculate: (L-18)

(1) Amplitude of the wave

(11) Wave length

(111))  Frequency of the wave

(iv) Velocity of the wave

(b) 3 fafts Al & ufeRiy oM & fore fafte adiel & uftRiy o I § | Siue! Udd
3ty & forw 3 ufertess fau 7u § 1 fafta Taieml &1 foard gU o §1sd | I1Y €} udd
IS & T UlcRIed DI uRebferd Ht Hiforg |

You can join resistances in different ways to obtain resistances of different values.
You are given three resistances of 3 ohm each. Draw diagrams to show their different
combinations. Also, calculate the equivalent resistance of each combination.
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2. frafafea o o G o w1 ST ST ATHT 40 § 60 o1 H g | [2]

Answer any one of the following questions in about 40 to 60 words.

a)

400C #1000 ITH oF &1 100C &t 9ITT H AR FT & [0 F9TF FTHT T TIFAT
FfrT |

T o AT T [T HEAT 335J/g, TS F&AT AT & - A o ATSHIH0r il 0 Sea1 2260 =J/g,
T it fafore oAt amfar = 2.1 J/g x°C
st ¥ farfere FoaT ariar =4.2J/g x°C

Calculate the amount of heat required to convert 100g of ice at — 40°C into steam at 100°C

Given:

(b)

(L-14)
Latent heat of fusion of ice =335 J/g
Latest heat of vaporization of water = 2260 J/g
Specific heat capacity of ice = 2.1 J/gx’C
Specific heat capacity of water = 4.2 J/gx"c)

g ST A" FFHM & AqAN 1:8 F dqard H o 9+ a+91d gl 3 I+
gESo T & A1 T d%g & TdhaT &ed & U Ao 49 & fhad g9\ W &
ATFITFRAT T ?

Hydrogen and oxygen combine in the ratio of 1: 8 by mass to form water. What mass of
oxygen gas would be required to react completely with 3 g of hydrogen gas ?

(TS 26 <)
3. Frafeaa & o Ot T o7 #7 ST S99 40 T 60 st §
Answer anyone of the following questions in about 40-60 words.
(@) TTET HITHT FT ATHTRT =3 FATSTITTET HITUHT 3T STeq HIAHT F S1= Thegl i Al
T T HITMT | (U5 21 TW)
Draw a labelled Diagram of a plant cell. Mention any three differences between a
plant cell and an animal cell. (Lesson- 21)
(b) TATET F TRT 1<k 7 419 forferT i gewaor &t o1 aoi= il | 9 TT 3 33T ofeqor
® ? HATAT o HHHT 0l THATH o (oI sre =1 397 forfaw | (a3 32 <)
Name the causative agent and describe the mode of transmission of Malaria. What
are the symptoms of this disease? List any four preventive measures for controlling
spread of Malaria. (Lesson -32)
4. Faforfea & & foret T o1 T ST AT 100 & 150 sl ® <o | [4]

Answer any one of the following questions in about 100 to 150 words.

(a)

ot rfawme fe ot faferer g o= Rafa & = geftas R mr e
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T(s) 0 5 10 15 20 25 30 35 90 95 50

X(m) |5 10 15 25 35 50 60 65 70 73 75

fiT it wia &1 Fofa-a77 1% aq=w | ag B T & g [A=oq #ar g | gaent Tid &1 9o o

farfere Freqort & siifenas w1 sraTd gu it | (aT=- 9)

The position of a moving body at various instants of time is tabulated below: (L-9)
T(s) 0 5 10 15 20 25 30 35 90 95 50
X(m) |5 10 15 25 35 50 60 65 70 73 75

Draw a position-time graph for the motion. What type of motion does it depict? Describe the
motion giving its 3 special features in numerical terms.

(b) AT s v Tt gfafraT T fear g1 e | 39 & At v & 397

i
(i) ST aTel T TTATRAT 6 T H TgAT ST oH TIATIIT hitorT | THE HT ST hel
FEAT ?
(i) S AT SATHIHAT T TATATAE FHIHLOT &)
b
:i“";""f‘:

Silver
chloride

The following diagram displays a chemical reaction. Observe carefully and answer the following
questions

(1)  Identify the type of chemical reaction that will take place and define it. How will the
colour of the salt change?
(11) Write the chemical equation of the reaction that takes place.

4
Y P
- =

- A
ZpN

Silver
chloride
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TGy A U Weal | Teh uraeR forar oik 39 i fopan | 3¥m fot #f gxifu 3R ueh waell & ufap
PRb I T DI Thd o |

Pratyush took sulphur powder on a spatula and heated it. He collected the gas evolved by inverting
a test tube over it, as shown in the figure.

5. fRaforfea & & B o wor &7 SE T 100 7 150 9rsat H <1 |

Answer any one of the following questions in about 100 to 150 words. [4]

(@) (i) srEa« (i) 3« = ¥ gfafea a7 goid gu ev-ama a9y | afe o= @i v i)
THTTAE 6% 6 &= T@T ST @ ar | &1 T § ae Tiafeai & STTHALI0r 7 F0 hifor |

(93 -15)

(a) Draw ray diagrams showing image foundation by (i) a concave lens (i1) convex lens, in case

the object is placed between focus and optical centre. Describe the characteristics of the

image formed in each case. (L-15)
(b) T T SAAERT & A1 QU U ) & A A g A H S | godE [t w@r g
ITH | TAF o HA/A A AT DA (IT3-19)
(9TTeh, (3T, |1, STt OhReT, TTaH, FETLIheT)
(i) Y=o gwETan

(iil) &Rl & T 3T AT
(N EIEEEIRESIEIRRED
(b) Given below are the names of some animals. Identify two animals each showing

Also Name the phylum/class of each of them; (Lesson -19)
(Shark, round worm, Snake, jelly fish, tape worm, starfish)

(1) Radial symmetry
(i1)) Body covered with scales

(ii1) Parasitic mode of life.

6. Prepare any one Project given below:

= @ 1 A wF g AR i
(a) Twfrfe wr s <ifene -

(1) T SMEHT GATX aET J-9T ST AT SHA [ 37T Flh T F TEAT 0l F7F aT09 AT FHl
arar T uF et wiger 39 9 i G2 w1 s ae G, O A uE Gew g
TAMET AT T2-H T0F R AT AR ITHT a9 THEH FHH g TI7 AT| TGt T off AT
U [FdT 989 & 918 S9 SAEHT 7 STeadrst e & 36T | F:T orT Srga $i g 9 a8
AT ST Hohdl & 1o IA fond A =1er 7 I 6w gem?
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(i) T UF g of SHIAdl o7q 5l 8 T agd 7¢H 1Tl g SHIU Tg I a1 & o ST
Tl BT g1 TH FBI 9T F fory zad =7 a1 qier it s arq s st 81 At swft-asft
STl SATET HATH FAT & o0 &1 § T 77 § qia7 7 Fial Har d g

(@) HIT F AU GLEd THT ATTHT FIT ELTHAT AT ATgT?2
(b) FLH B HIFE AT GG X X FAT <l 572

2) &0 U AT qHEAT g1 ATAuEd A8 T gl & o gT "l Wy 977 # 99T @ R AT Srar
21 =9 ATT T T o o1 T Fgw I3 A7 TR B

3) U %A AFEAT § TS S ATl Uk WA &1 gl ATTHIT M {9 & (70 THERT ITIRT 92 GH7
U qHTHIET § AT SITaT g1 AT 9T 9gd g @aiATd 9Tq & Fih sHH T dgd Afeh
ZIAT g1 1T I<h ST hl SATAT THI AT I H1 T ATaeTAT Tad?

(IT5-4 )
Answer the following:

A man went door-to door posing as a goldsmith. He promised to bring back the glitter of old
and dull gold ornaments. An unsuspecting lady gave a set of gold bangles to him which he
dipped in a particular solution. The bangles sparkled like new but their weight was reduced
drastically. The lady was upset but after a futile argument the man beat a hasty repeat. Can you
play the detective to find out the nature of the solution he has used?

1)  Gold is a very precious metal. Pure gold is very soft it is therefore not suitable for making
jewellery. It is alloyed with either Silver or Copper to make it hard. But sometimes
jewellers mix a large quantity of copper and silver in gold to earn more profit.

a) What precautions should you take while purchasing gold jewellery?
b) Why does Government insist on purchasing Hall Marked jewellery?

2)  Corrosion is a serious problem. Every year an enormous amount of money is spend to
replace damaged iron. What steps can be taken to prevent this damage.

3)  Mercury is the only metal found in the liquid state. It is largely used in thermometers to
measure the temperature. But mercury is a very dangerous metal as its density is very
high. What two precautions you would take while handling the equipments containing
Mercury ? (See lesson 4)

(@) 1 3F TF 2 3F ATH TIT 6 39 FATS % &l JAATHIT AL T § a1z | Feaes aie & aw
T HeT- FeT FT AUed gU I & e 9¢ FUSar aq1ey | 50,100,200 T & a1 &Y
TRt STE T 9T T FFaenid g e |

et FEel AT | 2HE 50 H F fi= F2 R o7 FErhra g2 w1 e /e fifsm 100
T, 200 T ... e % =T T g

THLN FEAT T TN 2230 |
AT 6 THAAT AT Bl FEAT H W AT TANT 230 |
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s eferfaa wat & S §ifer
1. To=ra Ja it orf<h 9% THH W 6T H=AT T@T7 HT FT TG 21d1 8 2
2. Ta=ra Ja &t arfvw 9% afiesE 1 et a1 FAT TAE 218 ?

3. oy 9o % FIe § qg Flg l SUTEATT T THHT erf<h I FT THE 2T g 2
4. FTAT T G AR HT (AT Fa il o<k T2 F7T TAT 21T & 2
5. FAT Al T THT G1E Fdh a9 STl g ?

Make two cylindrical card board formers of diameter 1 inch and 2 inch and length 6inch closely
wound coils using insulated copper wire taking out of tapping’s after 50 turns, 100 turns, 250
turns on each format. Now place a magnate needle at appropriate distance.

Take first coil. Connect its 50 turns across a battery and note the deflection of magnetic needle.
Repeat observations with 100 turns, 200 turns etc.

Make similar observations using the second coil.
Now insert 6 inch long iron nails inside the coil and repeat the experiment. Now answer the
following questions:

1.  What is the effect of increasing number of turns on the strength of the electromagnet ?

2. What is the effect of increasing the area of cross-section on the strength of the
Electromagnet ?

What is the effect of using soft iron core on the strength of the electromagnet ?
4.  What is the effect of increasingly current on the strength of electromagnet ?

5. Do the nails become magnet after some time ?
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